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( For Students of Class X )

Time : 120 Minutes Max. Marks : 100

{ For Candidate with benchmark disabilities
Time : 2 tHours 30 Minutes )

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully
before you open the question boolklet.

2.

6.

9.

10.

Answers are lo be given on a separate
answer sheet (OMR sheet). _
Please write your Roll Number as allotted to
vou in the admission card wvery clearly
on the test-booklet and darken the
appropriate circles on the answer sheet as
per instructions given. j
There are 100 questions in lhlS test. All are
compulsory.

Please follow the instructions given on the
answer sheet for marking the answers.

If you do not know the answer to any
question, do not waste time on it and pass
on to the next one. Time permitting, you can
come back 1o the questions, which you have

" left in the first instance and attempt them.

Since the time allotted for this question
paper is very limited, you should make the
best use of it by not spending too much time
on any one question,

Rough work can be donec on the given
Blank Pages at the back of the booklet
but not on the answer sheet/loose paper.
Every correct answer will be awarded one
mark. There will be no negative marking. .
Please return the Answer sheet (OMR)
only to the invigilator after the test.

Hindi version of the question paper will be

considered as final in case of any dispute
arising out of variation in translated version,

PLEASE TURN OVER THE PAGE AND START
YOUR WORK.
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(3) MAT-1

Alfger Araar e

MENTAL ABILITY TEST

34 UIE-UA H Tel 100 W § | UAF WA UF IF & &1 -
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W9 (1-8)/ Questions(1-8)

Fyr : T W 1§ 8 7 T U SwRAT < e ¥, P 0% ot & P e e
fag (7 )@Ww%u%ﬁ%%ﬂ%ﬁ%%&nﬁmw:&ﬁw%mﬁﬁw%
ﬁ%m:

Instruction : In eéch of the Question Nos. 1 to 8 a letter series is given with one
term missing shown by question mark ( ? ). This term is one of the four altérnatives
givenn under it. Find the correct alternative. :

1. BDRLER 2.

1 R @ s B T @ u
2. GH,JL,NQ, SW; YD, ? . & &

(1) EJ @ F (3) EL (4) FL
3. 2,U,0,32,L o

1y I 2) K | 3 M 4 N
4. AZ GT,MN, ?w YB.

(1) JH (2 SH (3) SK () TS
5. ABD, DGK, HMS, MTB, SBL, ?_

(1) XKW (2)° ZAB @) ZKU (&) ZKW
6. PBA,QDC, RFE, ?_ |

(1) SHG 2 onaB (3) TUI (4) ULK
7. PERPENDICULAR, ERPENDICULA, RPENDICUL, 2 .

(1] PENDICUL (2) PENDIC (3) * ENDIC (4) PENDICU
8 ST, ND.RD,TH, ? .

(1) TH 2) VW (3) RW . (4) ST

NTSE(I)/19-20-MAT-701-A "~ , B s TERD



MAT-1 | (4)
WS (9 -16) / Questions (9 - 16 )
fwr : o W= 9 ¥ 16 9% U U uF dew-goh & e ¥, faed uw v 9@ ¥ R ae

g fog (2) @ ot T € ) 98 9% 39 At % A T W aw et o © s ¢ wd fawen
T it |
Instruction : In each of the Question Nos. 9 to 16 a number series is given with one

term missing shown by question mark ( ? }. This term is one of the four alternatives
given under it. Find the correct alternative. -

9. 5,16,51,158, ? .

(1) 1452 (2) 483 (3) '48.1 (4) 1454,
10. 198, 194, 185, 169, 2.

(1) 92 @ 136 @) 144 @ 1 12.
1, 11,729,855, .7, 131,

m 1o @ 8 @ 8 @ 78
12, 589654237, 89654237, 8965423, 965423, 2.

(1) 58965 - (2) 65423 (3) 89654 (4) 96542,
13. 1,1,4,8,9,27, 16, B,

my 32 2) 64 " @ 81-. : (4) 256.
14. 4, 9.25 .2, 121,1.69, 289, 361.

(1) 49 2) 64 3) 81 4 87.
15. 980,392, 156-8, ?, 25-088, 10-0352.

(1 6504 (2} 60-28 @ 6272 @) 6385
16. 3,10, 101, 2 | |

(1 10101 (2) 10201 (3 10202 - (4) 11012

NTSE(I)/19-20-MAT-701-A



(S) - MAT-1

WA (17-19) / Questions ( 17 - 19 )

Frdwr : we e 17 9 19 a FEF H S FEE AR 3 A freed 1o o E ) et
AT Fed AT &, TEM o Feiwma el 9 o welle i & @it et ot e vee 98
9 it 6 Sl ved weAl # wiA-a/d e G el w1 aeeEd w7 SR Sl
¥/ §, 91 9%/3 g v a4 e aeh

Instruction : Question Nos. 17 to 19 have two statements and two conclusions
I and II. You have to assume the given statements as true even if it seems to vary from
commonly known facts. Read all the conclusions carefully and decide which of the

given conclusions logically follow(s) from the two given statements even disregarding
commonly known facts. '

17. o () : 647 @ AH o6 W HEieE S €
i) : 9% 64 TR F AW Y|
ey - O : ¥ 99 W ey
m a5 o W e T gl

'(1). Wﬁr&ﬁélm'm%
(2) et e 10 aﬂwwaﬂm%
il

(

3) &M TSR 1 SR I SFEIOT A €
4) T R 1 iR & TR 1 SR e €

Statements : (i) Most of the 64 number buses go to my-office.
(i) This is 64 number bus.

Conclusions : (I} : This bus goes to my office.
73§ I This bus does not go to my office.

(1). Only conclusion I follows.

(2) * Only conclusion II follows.

(3) Both conclusions I and-II follow.
(4)  Neither conclusion I nor II follows.

18. @A : @ ;P9 uRda fafa €
@) . e safe sie aiEr #t was w=ad )
fred ¢ O | 8 aREr fufee € _
m Wmﬁm@ﬁ%ﬁﬁarﬁﬁmmﬁ%l
(1) ohorer FohY [ (ORI AT &
@ et R 11 ST e ¥
(3) aHI IR 1 3T I SRR &Y ©
4) Hﬁﬁﬁﬁlﬁ??ﬁ‘ﬁﬁﬁéﬂmmﬁl

NTSE(])/ 19-20-MAT-701-A | [P.T.O.



~ MAT-1 (6)

19.

20.

Statements : (i Some Indians are educated.

| (i) Educated persons like small families.
Conclusions : (I} All small families are educated.

(I) Some Indians like small families.

(1) ~ Only conclusion 1 follows.
(2) ~ Only conclusion II follows.
(3) Both conclusions I and II follow.
(4)  Neither conclusion I nor II follows.

FYUA q WB—W@W%%&W%%
() Wﬁﬁ%aﬁﬂg-a'rnﬁéﬂﬁﬁr%

frend - M : & el I e

a -WW%%& ‘“%|
(1) et e [ SRgaRT S ¥ ‘
(2) el FR 1 STEROT Al &
(3) aﬂ’iﬁﬁﬁéraﬁlle’wm%

@) :rmﬁﬁmaﬁtqﬁrﬁmﬁqnmm%l :

Statements (i Vitamin B_complex is best for health.
(i1) Fruits contain Vitamin B-complex.

Conclusions : (I) We should grow fruits.
(I1) Fruits are good for health.

(1)  Only conclusion I follows. '

(2) Only conclusion II follows.

(3) Both conclusions I and II follow.

(4)  Neither conclusion I nor II follows.

mﬁrﬁﬁaﬁqwé:raﬁ@mm wwm%mmmﬁﬁmﬁwﬁﬁ

ST E ?
Which one of the following Venn diagrams' correctly répre?,ents the relation
between India, Pakistan and Asia ?

(1) . 2) @
) - |

NTSE(I)/19-20-MAT-701-A
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22.

&3,

24.

(1) @ e 2)

7 - MAT-1
frer o @ BA-E A o TR, AR 3R ST % wer Wew # wd w4 e
AT ? |

Which one of the following Venn diagrams correctly represents the relation
between Police, Thief and Criminal ?

O | |
(1) | @ OO0
0_0
o (D (@) O
frer # § A O e TR, TR SR ST & e ey A ae w9 d i
AT 7

Which one of the following Venn diagrams correctly represents the relation
between Rajasthan, Jaipur and Amer ?

) O | | )

g forelt F2 T T BRAIN &1 *%-#x T TIER T $#+% fover s 2, ot 34 e

§ RENT i &1 foran st 7 |

In a coded languagc, BRAIN is written as *%-#x and TIER is written as $#+% ;
then in the same coded language, RENT will be written as

(1) %x#$ (2) %#x$ (3) " %t+x$ (4) © +x%$

af Rt e T # TILE %1 7235 @41 DEAL i 9543 foran s & at 3dft e s A
DIET % %41 ferar ST 2

In a coded language, TILE is written as 7235 and DEAL is written as 9543 ; then
in the same coded language, DIET will be written as

(1) 9257 (2) 9527 . (3) 9725 (4) 9275

NTSE(I)/ 19-20-MAT-701-A : ' [ P.T.O.
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25.

26.

27.

29,

afs e S 991 & ZEBRA &1 2652181 fomar s &, FﬁETﬁ?ﬁI ST § COBRA &t
7 foram ST 2

In a coded language, ZEBRA is written as 2652181 ; then in the same coded
language, COBRA will be written as '

(1) 3152181 (2) 1182153 (3) 31822151 (4) 302181

afs frell 3z W A E # 5 @O HOTEL %1 12 fr o &, & 3 32 s 3
LAMB@E@T%@TWW?

In a coded language, E is written as 5 and HOTEL is written as 12 : then in the
same coded language, LAMB will be written as '

(1) 28 2) 26 @@ 7 4y 10

At & et s A o Bt £ 2

How many triangles are there in the figure given below ?

(1) 10 2) 8 (3) 11 4 12 .

ﬁﬁﬂém%ﬁﬁﬁ#wf@ﬁﬁ%?

How many parallelograms are there in the following figure ?

JAVAVAN

m 6 @3 - @) 4 @ s
2 € 1 st F fore weuE € 2

How rhany hexagons are there in the following figure ?

m 1 @ 2 @3 @ 4

NTSE(I)/ 19-20-MAT-701-A



(9) _ MAT-1

W {30 -33 ) / Questions ( 30 - 33 )
Frder : we e 30 @ 33 1 @ W ot w1 W qdor s w i, SERE <o &
3TTehTd % T 3T 8l | ' '

Instruction : In Question Nos. 30 to 33, find the correct mirror image of the given
figure, when mirror is placed on right side of the figure.

. 30. W—ﬁ@%/()uesﬁon Image 3?!?31@?%{ / Answer-Image
246 RS 642 I N
35 c 3 53 2& c &
7 7 17 v | |or¢S
(1) ) B @
a1, Q’?H‘;ﬁﬁrﬁ/()ucstion Image W—Wﬁf{ﬁnswer—lmage |
; - - — _ Iewl : :
’} % ’u' . ‘(._‘. |
(1) 2 (3) - (4)
32. PRAYER " ' '
(1) 9gAYdSL () AdYAdd  (3) AIIATA (4) 99AYAS
33. 12698 _ ; I
(1) - 12698 () 1€£698 (3 8eacI 4) 12968

- 34, wH-En ST G ) Ager-fa @ gt @ 2
-Which of .the ahswer—ﬁgtires will complete the matrix figure ?

W~H$%/Questioh'hnagc

¥

ENLE 311'%%1’ /Answer image

Ql |

(1) @ ®) “

NTSE(I)/ 19-20-MAT-701-A [P.T.O.



‘MAT-1 (10)

35.

36.

11%50%2@&@%?@@&%‘3?%@??

How many numbers from 1 to 50 are there which are prime ?

(1) 10 ' (2) 20 3) 15 4 18.
qﬁmqaﬁ,zomsaﬁﬁéanm,a?1maﬁ,zoo7a$rﬁ:r-mﬁ=rwr?

If it was Sunday on 1st January, 2006 thcn what was the day on 1st January,
2007 ?

(1) TR /Sunday - (2) WWER/Monday

(3) TEER /Tuesday ' (4) WFER/Saturday.

aH ( 37 - 42 ) / Questions ( 37 -42)

e mﬂwmﬁmwmﬁfﬁqfﬂww;ﬁﬁw% q{rqwlqchwi:!@
ot &1 37T forehed o1 < |

‘Instruction_ : In each of the Question Nos. 37 to 42, three alternatives are alike in a

certain way but the rest one is different. Select the odd one.

37.
38.
39,
40.

4]1..

42.

(1) ¥TE/Bengaluru (2) TR/Nagpur

(3)  WTel/Bhopal ' (4) .'ﬁ.?ﬂ/RancHi.

(1) ®/Green | @@ TE/Pink

(3) ?l%'ﬁjlndigo'_ | (4) S/ Violet.

(1) %ﬁai/septembcr | @) _aﬁampﬁl
@ TFaR / November '(4)_ SRt/ January.
(1) THRY/Tomato () ¥IcY/Potato

(3) TRR/Carrot (4) WT/Onion.

(1) ¥/Rectangle  (2) o/Square

(3) %ﬁa/'rriangle - (4) . G/ Rhombus.
1) 23 @ 51 | @ 63 (4) 15.

NTSE(])/19-20-MAT-701-A



(11)

43, e forfera &t Sendt-tem € 2
How many educated people are employed ?

fféaa

Educated ~%

(1) 18 (2) 26 (3) 24
U3 (44 -48) / Questions (44 -48)

AteRdt-gem

&« Employed

MAT-1

ﬁ%ﬂ:ﬁmﬁﬁaﬁm#\%ﬁﬁnﬁaﬂ%@waﬂmﬁﬁ%lmmmﬁmmﬁw

e et % IR AT

Instruction : The following questions are based on the diagram given below. Study the

diagram carefully and answer the questions based upon it.

e T
()  T5NI I IFA |
()  for = fom &

(i) ¥R H A G, T |
(iv) ﬁﬂaaﬁaﬁaﬁﬁfwﬁﬁmwﬁl
In the diagram -

(i) Rectangle represents males

(ii) Triangle represents educated

(iii) ~ Circle represents urban, and
(ivy  Square represents civil servants.

7
10

/> \

NTSE(I)/ 19-20-MAT-701-A
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MAT-1 | ( 12]

44,

45.

46.

47.

48.

49,

50.

Frferfiaa & & 04 feeert forfera gow &, <t fr vt T % 2

How.many among the following are educated males, who are not an urban
resident ?

(1) 10 (2) 4 (3 11 4) 9.
frefefan & @ 08 fred = &, 9 B 9 ot ciode, 7 & Rl ok 7 & gow

e I & 2

How many among the followmg are nelther civil servant nor educated but are
urban and not a male ?

1y 2 : pj & 3) 6 - (4) 10
ﬁw%ﬁgﬁﬁ‘ﬁﬁﬁmﬁﬂﬁaﬁ%ﬁﬁwﬂ@aﬁmﬁﬁ%a

How many among the following are female, urban resident and also a cmi

servant ?

Bl S - T (3 10 (4) 14.

frferfea o qﬁmﬁﬁraﬁm%ﬁ%ﬁ%&ﬁmw@wﬁ@iﬁ
Hafad & 2

' How many among the follqwing are educated male who hail from urban area ?

(1) 4 2) 2 B s : 4 11, o
Trfataa & & U8 Sfwal o §@ 6ot €, St 76 ool oierda® § oiled 169 Tl ¢
3 7 & vt aer 7 & Wik € 2

How many among the following are only a civil ‘servant but neither male nor

‘urban oriented and uneducated ?

(1) 10 2) 8 @ 7 @) 9.
ﬁmfaf@a  aiqet W St T - '
i a3, « mﬁc—qﬂr 3. W
4. THw - 5. fasmE 6. ITERA|
Arrange the following in a meaningful sequence :
1.  Probation 2. Interview 3. Selection
4. Appointment 5. Advertisement 6. Application.
(1) S, 6 2,3,4,1 : (2 5,6,3,2,4,1
[3) 57 6 4:' 2) 3: 1 g ) (4] 6) 5: 4: 2: 3: 1‘
frefeifiae it arequl shm H A Hifag
1. AR 2 faw 3. T=EH
4, WRa - 5. uRm@En
Aﬁange the following in a meaningful sequence : _
1. Jaipur ' 2.  Universe - 3. Rajasthan
4. India 5. Asia.
(i 1,2.3.435 _ 2 L3452
(3 1,4,3,5,2 4 1,3,5,2,4

¥

NTSE(I)/19-20-MAT-701-A



ol.

92.

93.

54.

(13) MAT-1

o WohR wisett, o0 @ Hetdd €, 38 WhR s 77 § | fora) dafad & 2
As Kandla is related tb Guyjarat, in the same way Kochin is related to which of the
following ? '

(1) e /Karnataka (2) TMET/Goa
(3) &/Chennai (4) TeT/Kerala.
o v wRe, ¢ feeeht @ Wefed ¢, 36 v w9 @ foree welfa @ 2

As India is related to New Delhi, in the same way Pakistan is related to which of
the following ?

(1) I[aﬁéﬁﬂél/Ra,walpiﬁdi (2) r\R’TI_OET/IF’eshr:-mfar

(3) TR/Lahore (4) IEIEE /Islamabad,
Forer ST e, TR R el , S SR A e e e & 2

As ru'pee.is related to India, in the same way yen is related to which of the
following ? ' .
(1) Zﬂ%/Turkey (2) iTRY/Bangladesh

3 S/ Japan @ TT!ﬁﬁ?—lF[/Palustan i

afk A> B, B> C C>D?ﬁﬁmﬁﬁﬁ#mﬁa€qﬁﬁﬁﬁmﬂﬂm% 2

If A> B, B> Cand C> D, then which of the followmg conclusions is deﬁmtely
wrong ?

(1) A>cC @ A>D
(3) B>D 4 D>A

W (55 - 59 ) / Questions ( 55 - 59 ]

e - mmss@sgwmﬁaww‘=é;B_mrax&‘s’;ywawﬁ‘«:’w

§ T 7Y ‘»’ AT el fopeq =1 T4 i\ |

Instruction : In each of the Question Nos. 55 to 59, choose the correct 'altémaﬁvc
assuming « stands for ‘="; B stands for °>"; y for ‘<’and 8 for ‘#’.

55.

AR 6x o Sy 1 2y B 3z , 7@
If 6x a 5.y and 2y B 3z, then
(1) 2xp 3z (2 4xp3z
3) 2xyz | 4 4xa 3=z.

NTSE(])/ 19-20-MAT-701-A [ P.T.O.



MAT-1 (14)

56.

57.

58.

59.

ﬂ%ax}'by,bxaczﬁmbgaac,ﬁa

~If ax y by, bx a cz and bzaac,then

(1) axPecy (2)

B) yyz . (4)
Tfg abxy a cgz, bx B ay AT b2 o ac, dd
If abxy o czz, bx B'ay and b? « ac, then

(1) ex?Bez (2)

" (3) b%xpc?z (4)

A bey y ax,cy o bz a4l g2 y be, &

If bey y ax, cy o bz and a? v be, then
(1) ox o abz (2)

(3) ox & abz (4)

e q2x a byz, czx o b2y T 22 o axy , 9

ay o cz

yPBz.

alx® Becz

bx> B cz.

cx y abz

o°x Yy atz.

If a’x o byz, czx a b2y and c?z « axy , then

(1) abc a xyz (2)

abe B xyz

(3) abc & xyz (4) abcy xyz.

"9 (60 -63 ) / Questions (60 -63)

Pt ; Prefirfiae TR o R TR it Ted R A R T S % 3R A

Instruction : Read the information given below to answer the questions that follow :

(1)

(i)
(i)
(iv)
(i)

(ii)
(i)

(iv)

A$Ba;ra¢é%ﬁm*A,Bﬁﬁr%1 .
Az BE 34 & T A, B fua 21
A@ B atf%%_A,Bwq%r%|
A% B& 34 ¢ fh A, BoI 921 B

A $ Bmeans A is mother of B.
A # Bmeans A is father of B.
A @ Bmeans A is husband of B.

A% Bmeans A is daughter of B.

NTSE(I)/19-20-MAT-701-A



60.

61.

62.

63.

64.

65.

(15) | MAT-1
A& P@Q $ M= T, 9 P, T Y F41 Gaiy goifar & 2
If P@Q $ M# T, theri what relationship is of Pwith T ?

(1)  F1/Maternal grandfather (2) AFl/Maternal grandmother

(3) <I<I/Paternal grandfathez; 4) -m’f’?f/ Paternal grandmother.
Prferfan & @ - sifvweaf 7 vl ¥ 6 R, 1 ) ae & 2

Which .of the following expressions indicates that ‘R is the sister of H ; ?
(1) H$D@F<R | 2 R%D@F$H

3) R$D@F+H (4 H%D@F$R

Ak G$ M@ K, T K &1 G 9 1 699 ¢ ?

If G$ M@ K, then how is K related to G ?

(1) ¥/ Mother-in-law (2) Ti/Daughter

(8) ¥/Daughter-in-law (4) T ¥ FI3 7T/ None of these.
ﬁmﬁﬁﬁaﬁﬁ@ﬁqﬁ st 78 o & FF N HE 2 |
Which of the following expressions mdicates H is the bfothcr of N?

() H#R$D$ N (2) N‘B’oF@D$H;&R

B3 N%F@D$H ' (4 N%F@D%H.

% 2x+y =35 G 3x+4y =65, dd 5#

If 2x+y =35 and 3x+4y=65,th'en.§=

(1) 30 @ 2 3) 5 @) 3
o 4p - (47)% - (43)%, @9 P=?
If 4P = (47)? - (43)2, then P="?

1 360 . (@ %0 @ 4° @) T A

None of these.

NTSE(I)/19-20-MAT-701-A ' : [ P.T.O.



MAT-1 | (16

66.

67.

68.

69.

70.

71.

3-572° + (2-428)° : i
: & T §
(3-572)2 —3-572x2-428 +(2- 428)2
et o (3-572° + (2- 428 e
(3:572)% - 3.572x 2- 428 + (2 428)2
(1) 17-12 @ 7 . B 6 (4) T FiE T /
. None of these.
o 1 YT el 150 o WAl &1 vk forol Y o (3 ) 0 R 2

The surface area of a cube is 150 sq.cth. What is the length of its dla.gonal
(in cm) ?

m 2 g S @ 52 @) 53

aﬁﬁrwaﬁawa:ﬁwéo%iaﬁéqﬁ@ﬁﬁ@r& 16 & 22 8 a dRRl TET &

The average of three numbers is 20. If two of the numbers are 16 and 22, then
the third is

(1) -18 2) 20_" (3 19 (4) 22.

| ﬁwﬁ@%ﬁw:waﬁ 10608049 ¢ ?

Of which number is 10608049 a Sqi;are - SO

(1) 4135 2) 3009 (3) 13263 (4) 3257.
A ug (?) S :
Identify the missing term (? ) :

6 7 42 13

13 3 39 16

4 ? 28 11
[ =i (2) 0 (3) 4) 7

ﬂﬁ@u@%ﬁmaﬁwﬁmwﬁlwm@ﬁm4%ﬁuﬂawmﬁ@m

g 2

The two positions of a single die are given below. Wh;ch digit will be at the face
oppos1te to the face havmg digit 4 ?

(1)

1

(2)
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(17) - MAT-1

72. UM U F IR A 1@ﬁw%ﬁﬁ#ﬁ%—aﬁ%aﬂmmﬂﬁ%?

How many smaller cubes of 1 cm side can be formed with a solid cube of 3 cm
side ?

(1) 3 2 6 @B 9 (4) 27.
73. Wﬂﬁaﬁwaﬁﬂﬁﬁ?mﬁlﬁwﬁqﬁfﬁ:ﬁaﬂwwﬁmww%?

How many times the hour hand and the minute hand of a clock are at right
angle in a day ?

(1) 24 (2) 48 | (3)' 22 (4) 44
74. AT 1+4=9,2+8=183R3+6=15097+8=

f1+4=92+8=18and3+6=15,then7 + 8=

(1) 32 2) 41 (3) 23 (4) 30.
WS (75 - 79 ) / Questions ( TS=79 )

frdwr ﬁmmﬁaﬁw@mwﬁwﬁﬁ%ﬁanﬁﬁmmﬁm

31136!1%13F(JHJKLaﬁTMmaﬁaﬁiﬂ'a’cmmwlnmmuﬁﬁ%ﬁﬁaa%lm
1 U i U ¥ WS SRR, WWER, SR, sirgr, fori favetses, i, mad #R
i e 7w onavas T Be S6 AR, K 91 9 g A W daT ) A9, K
TR TSN ¥ | AT AR E % 7 dael @ ot £ s ok E % s dheet w ot
T ¥ WIVHER, A % TR TG AR &1 M, K F T AR G F H¥h ¥1 Ga J
WW@%%WW%H& G 3R 7 & g afger 21 foxita favetss, o dehrer awdl
AR ¥ | Tehlel, WHHR & E AR W ¢ | 3TEH, aifireien w1 deRTer TR ¥ G, W SR
% I 3R TET B

Instruction : Study the following information carefully and answer the questions given
below : ' '

Eight people E, F, G, H, J, K, L and M are sitting around a circular table facing the
centre. Each of them is of a different profession : Chartered Accountant, Columnist,
Doctor, Engineer, Financial Analyst, Lawyer, Professor and Scientist but not
necessarily in the same order. F is sitting second to the left of K. The Scientist is an
immediate neighbour of K. There are only three people between the Scientist and E.
Only one person is sitting between the Engineer and E. The Columnist is to the
immediate right of the Engineer. M is second to the right of K. H is the Scientist. G and
J are immediate neighbours of each other. Neither G nor J is an Engineer. The
Financial Analyst is to the immediate left of F. The lawyer is second to the right of the
Columnist. The Professor is an immediate neighbour of the Engineer. G is second to
the right of the Chartered Accountant.

NTSE()/19-20-MAT-701-A _ - [RTO.



MAT-1 (18)

75. E% I H R @H WA A5 ¥ 2
Who is sitting second to the right of E ?
(1) @i /Lawyer 2} G
(3) CHTQ*W'HT/Engineerl (4) F
76. FrAdY armEARE ) |

Who amongst the following is the Professor ?
(1) F (2) L 3 M 4) K

77. W ME FEEM F AUR R FEldisg 9R § ¥ 99 Redl veR 99 ¥, seiee e o
Wwélﬁwﬁ:{mowwwﬁmm%D

Three of the following four are alike in a certain way based on the given
_arrangement and hence form a group. Which of the following does not belong to
the group ?

(1) & SEmHR —H /'Charte-red Accountant — H .

w

(2) E#T — M/ Doctor — M
(3)  arfirdar — J/ Engineer— J
4) foreit fovetss — L / Financial Analyst — L.

78. At & g meqaﬂ:r-w% ?

 What is the position of L with respect to the Scientist '9

(1) 18] @RRT / Third to the left
(2) T THI / Second to the right
(3) - Td {/a/ Second to the left
(4) 3T I ARRT / Third to the rig}it.

79. A T TEEN F AR i § W WH-w 0T T 2
Which of the following statement[ s) is/ a_re true accordiﬁg to the given -
arrangement o
(1) e, ST & a1 i gE % /

The Lawyer is second to the left of the Doctor
(2) E, fomita faveiues 1 dehrel ggidt € /

E is an immediate neighbour of the Financial Analyst
(3) H FoR o fovons s S da S dmrd /-

H sits exactly between F and the Financial Analyst
(4) WHSR AR F & 99 sheel 97 =Afd 98 £/

Only four people sit between the Columnist and F.

NTSE(I)/19-20-MAT-701-A



80.

81.

82.

83.

84.

85.

86.

87.

(19) . MaT1

afg 3814, 9 ¥ foruifre & 1 Fostam wwa Gem A wT A
If 381A is divisible by 9 then the value of the smallest natural number A is

(1) 5 (2 6 | B 7 4) o.
3 % WUH UTd TS T S § |
The average of first five multiples of 3 is
(1) 3 ' 2 9 (3 12 (4) 15.
afs 81Y =L @ xw AR yF W A}
2
=t , then the value of x in terms of y is
o
S 24 M : Ay

m 3. e -3 @ = W -
qﬁ'———u-—loaz+ab:-l—{)-ﬁﬁ)[a:b% |

3ab - b* . |
fM 10 ,thena: bis

3ab-b2 1 -

(1) 2:3 2) 2:5 B 3:4 @ 3:i7

ot [s+3x =3, AxFAAE
If1f5+?;/; = 3, then the value of xis

(1) 125 (2) 64 e Y 4 9. o
<t dEmd w YA qEma (F.E.0.) I HeaH §Heks (FE0) HO12 T ¢
AT, T A, AN 403 ¥1 AR I A U e 93 &, @t et dew ¥

The Least Common Multiple (LCM) of the two numbers is 12 times their Highest
Common Factor (HCF). The sum of HCF and LCM is 403. If one number is 93,
then the other is : : .

(1) 134 (2) 128 . (3) 124 (4) T 9 HIE Tl

/ None of these.

aﬁwmqﬂiwﬁsaﬁ%%mmﬁaﬂw 117%@3?:171?‘1“"3%%

AT =1 BT 2

If one integer is greater than another integer by 3 and the difference of their
cubes is 117, then what would be the sum of those two integers ?

7 2 8 - @9 (4) 11 _
3 7, 5, 0,2 FT AT IR AR aﬁﬁ%ﬂu@r&mmwﬁ%aﬁ%w .

& H U 37k Uk & IR Yg® el 8 ?

- How many four digit numbers can be formed using 7, 5, 0, 2 only once in a

number ? . .
(1) 4 (2) 12 (3) 9. (4) 18.

NTSE()/19-20-MAT-701-A B [ P.T.O.
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88.

89.

3ihl I R o fom sit 7, 0, 6, 5 ¥ T o TS At UR o A A wH
e |

The greatest four digit even number that can be formed using the digits 7, 0, 6, 5
without repeating the digits is _

(I) 6570 (2) 7560 ' (3) 7650 (4) 7065.

T Al AU AT T ST W7 30 foR/sier e W amr Wt 20 fE/Her ¥ 9 @

1R A & ford sl =™ ¥

A person covers half of his journey at 30 km/hr and the remaining half at
20 km/hr. The average speed for the whole journey is

(1) 24 fHmt/eer / 24 km/hr (2) - 28 fHl/ge1 / 28 km/hr

(3) 32 f®Hi/der / 32 kmn/hr (4) FHI R T8i/none of thé.-;e.

U (90 - 94 ) / Questions ( 90 - 94 )

fow : s ofer g 1999ﬁﬁrﬁwnﬁmaﬁaﬁm€aﬁﬁ=ﬁ%wﬁmw%mﬁaﬁw
wﬁwmmﬁmmﬁ*mfﬁfm

Instruction : The pie-chart represented below shows the spending by a family on .
various items during the year 1999 Study ‘the pie- -chart carefully and answer the

following questlons

qﬁa’nmaﬁhgggaﬁm%ﬁmﬂﬁwaﬁm

- Per cent of money spent by the family on various items dunng_ 1999 :

9T /Savings * 37 /Others
15% 20%

qftagd /Transport -
S%
W_/ Food
23% )
RN /Education _
12%

%Y /Clothing 6 /Housing
10% 4 15%

NTSE(])/ 19-20-MAT-701-A



90.

91

92.

93.

24

95.

(21) MAT-1
afe a9 1999 & A Fof @ 46,000 T o1, & WA | FFar T @ (30 ) @

If the total amount spent during the ycar 1999 was Rs. 46,000, fhen the amount
(in rupees) spent on food was

(1) 2,000 2) 10,580 (3) 23,000 4) 2,300.

s a9 1999 % R Fo @A 46,000 U o1, Al HUL AU ¢l H HeA e
Ty (393 H) g3 o1 ?

If the total amount spent during the year 1999 was Rs. 46,000 then how much

. money (in rupees) was spent on clothing and housing together ?

(1) 11,500 (2) 1,150 (3) 10,000 (4) 15,000.
zﬂ%aﬁi1999%%@@46,000mﬁm,a’rqﬁﬁwmﬁnﬁw(mﬁﬁ)ﬁﬁ

If the total expenditure of the family for the year 1999 was Rs. 46,000, then the
savings (in rupees) of the family was

(1) 1,500 (2) 15,000 (3) 6,900 (4) 3,067.
U-91¢ & AR, Huewar @ 6 7 W a1 ?

According to the pie-chart, the maximum amount was spent on which item ?

(1) 99 / Food , (2) T / Housing

(3) &9% / Clothing (4) 3T / Others.
T W | fRd T gt Wyt e 98 A {63 T et @ @ He o

The ratio of the total amount of money spent on housing to the total amount of
money spent on education was

() 5:2 2] 2:5 (3) 4:5 4) 5:4.
e demstt # A 98 1 af wun o fidia demet & @eg e 2 ;3 @ aw g a
T FETedt & g AU 5 : 8 &, Al fada HE& g

The sum of three numbers is 98. If the ratio between first and second be
2 : 3 and that between second and third be 5 : 8, then the second number is

(1) 30 (2) 20 (3) 58 (4) 48.

NTSE(l)/19-20-MAT-701-A | B.T.Q.
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Y% (96 - 100 ) / Questions (96 - 100 )

W : frafefea sede uw | fog (2 ) & a8 3 3 de & mE € A s o # Hived
Ty ¢, 3t 39 wHR &1 ay fag (2 ;) & <@ R &) o e amn 9% A9 o m fagedt A
H frdl v foey & diw d o 31 W@ fasew &1 g

Instruction : In cach of the following questions, there is a certain relationship between
two given numbers on left side of ( : : ) and one number is given on the right side of
( : ) while another number is to be found from the given alternatives, having the same
relationship with the number as the numbers of the given pair bear. Choose the
correct alternative.

96. J1:35::574:7

(1) 23 (2) 82 (3) 97 (4) 113,
97. 42:20:164:7

(1) 31 (2) 32 | (3) 33 (4) 34.
U8: S LT 2

1y 22 (2) 29 (3) 18 (4) Sl.
99. 42:56::72:7?

(1]' 81 (2) 90 (3 92 (4) 100.
100.- 9:80::100:7?

(1) 901 (2) 1009 (3) 9889 (4) 9999

NTSE(l)/ 19-20-MAT-701-A





